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Read the case study scenario below and use it to answer the question that follows.

Case study scenario — Rebuilding roads

The New Zealand Government is going to invest money to help rebuild roads into
Gisborne that were damaged by Cyclone Gabrielle.

The following participants are all located in the same area:

«  the Government
«  alocal roading contractor that has a contract with the Government to build roads

. a whanau - one parent works for the roading contractor, the other parent works at
the local petrol station, and two teenagers are looking for employment

. local banks that most of the families and businesses in the area bank with
. other local businesses such as supermarkets, restaurants, and tourism businesses.

Road access is important for transporting supplies in and out of Gisborne and for tourists
visiting the area.

QUESTION

(@) (i) Describe the financial interdependence between the whanau and the roading contractor.

(i)  Describe the financial interdependence between the bank and the roading contractor.
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(i)  Describe the financial interdependence between the other local businesses and the
whanau.

(b) Describe a direct effect the Government’s investment in road building will have on the roading
contractor.

(c) (i) Explain ONE flow-on effect of the Government investing in road building for each of the
whanau and the roading contractor.
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(i)  Using the flow-on effect for the whanau, explain ONE impact on the interdependent
financial relationship between the local businesses and the whanau.

(d) (i) Explain ONE flow-on effect of the Government investing in road building for each of the
local tourism industry and the local bank.

(i)  Using the flow-on effect for the local tourism industry, explain ONE impact on the
interdependent financial relationship between the local tourism industry and the
Government.
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There are other local businesses affected by the road rebuilding, including tourism
businesses such as skydiving and whale watching. A large increase in tourism spending
is expected in the local economy when the roads are rebuilt. This will lead to further
decisions being made by the Gisborne tourism industry and the Government.

(e) Using the resource information above and the flow-on effects from part (d), analyse a decision
that a Gisborne tourism business could make.

(i)  State a decision a Gisborne tourism business could make:

(i)  Evaluate positive consequences of the decision on at least TWO of the case study
participants.

(i) Evaluate negative consequences of the decision on at least TWO of the case study
participants.
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(f)

Using the resource information on page 5 and the flow-on effects from part (d), analyse a
decision that the Government could make.

State a decision the Government could make:

(i)  Evaluate positive consequences of the decision on at least TWO of the case study
participants.

(i)  Evaluate negative consequences of the decision on at least TWO of the case study
participants.
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Extra space if required.
Write the question number(s) if applicable.
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